The Competitive Economy

Limits to Pricing?

1. The Law of Demand – demand limits what firms can charge because of the tradeoff between P and Q.
	P
	Q
	TR

	10
	2
	20

	9
	4
	36

	8
	6
	48

	7
	8
	56

	6
	10
	60

	5
	12
	60

	4
	14
	56

	3
	16
	48

	2
	18
	36

	1
	20
	20


2. Competition – firms are limited in the ability to price by the prices and quality offered by their competitors.

Perfect Competition – Assumptions

1. Large # of Buyers and Sellers.

· Large # of buyers and sellers interact in a market via supply and demand.  Supply and demand determine P* and  Q*.

· Q = quantity for the entire market,  q= quantity produced by one firm.

· Total of all firm outputs (q) is equal to the total market output (Q)

· Firm output (q) is insignificant compared to market output (Q)

2. Homogenous Products

3. Perfect Information

4. Free entry and exit

Firm Price setting under Perfect Competition

Higher than P*?  (1,2,3) A seller attempting to price above P* would sell zero units. 

1) There are others sellers (1)

2) All products are identical (2)

3) All buyers know all price and quantities (3)

Same as P*?  (1) You can sell all the output  you want to sell at P*.  You don’t need to lower price to sell more in a PC market.

1) There are so many other sellers that your contribution (q) is insignificant and therefore won’t affect the price.

2) Demand curve for PC firms is horizontal at P*.

Lower than P*? You can already sell all you want at P*, so setting price below P* only loses you money.  You don’t sell any extra units by cutting price in PC.
Perfect Competition Graph Setup

The market for all firms in an industry set the market price via Supply and Demand.  All firms must sell at the market price (see above).  That price becomes the firm’s demand and Marginal revenue curve.

Under PC, all firms sell at the market price.  They are called “Price Takers” because they have to take and work with the market price.  Competitive firms have no freedom to set their own price.
Profit Maximization – All firms desire only to maximize profit.

Total Revenue (TR) = P x Q 

Total Revenue for PC firm TR = P* x q

Marginal Revenue and Perfect Competition ( MR=P*

Marginal Revenue (MR) = Change in Total Revenue associated with selling the last unit.  How much money did the last unit bring into revenue?

Marginal Cost (MC) = Change in Total Cost associated with producing the last unit.  How much did the last unit cost?

	   q (firm output)
	P* = MR
	MC
	Net Profit

	3
	6
	3
	+3

	4
	6
	4
	+2

	5
	6
	5
	+1

	6
	6
	6
	0

	7
	6
	7
	-1

	8
	6
	8
	-2

	9
	6
	9
	-3


Firms will set q* and produce where MR=MC, which is where profits are mathematically maximized.  The common sense reasoning behind this is that firms would want to “Produce all the units that put money in their pockets (MR>MC) and none of the units that take money out of their pocket (MC>MR)”.  

Producing where MR=MC does not guarantee a profit.  To determine profit, you must reference ATC and Price at q*.

Since all firms will produce at q*, if at q*:


If P>ATC then TR>TC and firms will make and economic profit.


If P<ATC then TR<TC and firms will make and economic loss.


If P=ATC then TR=TC and firms will make a zero economic profit (break even).

Short-run and Long-run equilibrium conditions:

Short-run Perfect Competition Equilibrium

1. Qs=Qd  (Market Equilibrium – no shortage or surplus)

2. MR=MC (Firms set q* so as to max profit)

Long-run Perfect Competition Equilibrium

1. Qs=Qd  (Market Equilibrium – no shortage or surplus)

2. MR=MC (Firms set q* so as to max profit)

3. MC=ATC=P (No profits or losses in the LR)

Perfect Competition and Consumers in the Long-run
If all consumers and producers are:

1) Self interested

2) Rational

Then:

1. Consumer Sovereignty – Consumers determine what gets produced and what doesn’t in a competitive economy.  A competitive economy produces more of goods that are profitable and less of goods that are unprofitable.  

Consumers control the market through how they choose to spend their money.

2. Productive Efficiency – Firms will always make zero profits in the long-run, which means they will produce where P=ATC=MC.  Where MC=ATC is unique because cost per unit (ATC) is minimized, meaning firms produce output at the lowest possible cost per unit. It is also true for that the firm will produce at the minimum point of the LRATC curve.  

3.  Allocative Efficiency - Firms will always produce where MC=P.  The price (P) comes from consumers and represents how much they value an additional unit.  The MC comes from firms (and indirectly consumers) and shows how much value is sacrificed to produce another unit.
a. P>MC   (  Consumers value additional units at more than they cost.
Consumers want more.

b. P<MC  (  Consumers value addition units less that they cost.

Consumers want less.

c. P=MC   (  Consumers value additional units at exactly what they cost.

Output is exactly correct.
4. Consumer Surplus is Maximized – Since all firms must set price equal to cost per unit (ATC), all consumers buy at cost, leaving no surplus or profit for firms.  In addition, since MC=ATC for firms in the long run, cost per unit (ATC) is minimized for consumers.  In other words, consumers get the lowest possible price from a competitive economy.  All the benefits (surplus) generated by a competitive economy goes to consumers, even though all producers are motivated to produce and serve consumers only by greed.

The competitive model proves Adam Smith’s notion that in a competitive economy, individuals perusing their greed will be guided “as if by and invisible hand” to do the common good, meaning serve consumers.  

Profit, which is surplus going to producers, is only a short-run phenomena, which causes producers to quit producing things consumers don’t want and start producing things consumers do want.  It is what motivates and coordinates the economy to do the will of consumers.  Without the short-run benefits to producers, consumers would have no sensible way to control producers.
